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HYT 195971 F €97 & 95 |

39 J97-Y7 4 31 @Usl 4 21 J97 & : @UE & N WU & |

GUE & 4 Fegi3 FHR & J97 & Fals @UE & § [J597F FHR & J97 & |
30 78 (5 + 16) = 21 591 4 &, IFzaR #1 2 ¥ & @i (fwan) 7q i
(5+10)=15 37 & FH 37 & /

Tt st @us 91y & g 391 &1 T8t HH H I BT JIG 1537 TI7 M50 |
TUE & : TGITS TPR & To7 (24 37F) :

() 39 @S §5J57 & |

(b) BT THRIHE 3HT 781 & |

(c) 13T 7T (3597 3 31g@R HIfq |

(d) FF T¥7/91T & G STE12T 3Bl BT I 1637 771 & |

TV & : [d9THE JHR & T (26 37%F) :

(@) 39 @S 4 16 F97 & |

(b) IFHiZER F1 10 97 F7 & |

(c) 12T TG [H59 & SIFAR HIAT |

(d) Fc9% Fo7/91T & 7 E12T bl HT Ioci@ 1697 TI7 & |
T Ug &®

(agfis TR * ue) (24 37%)
TR hivel W feu T 6 g1 d & fohegl 4 & I e | 4x1=4
()  HI3d A 3TN HIEA IH TFHIE i Th TR AAT TR ST
2 |

(A) Sl ($) B) T ()
(C) Y@ (TSR (L) (D) B (#)

(i) TafaRga # 9 frg YR & Hae § had fora 3 ol & 9w 9
T AMEH-NEH (Feraf=m) feran s 2 2
(A) HiRgH (I=d) (B) Hiehideh (SIEER)
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General Instructions :
(i) Please read the instructions carefully.

(it)  This question paper consists of 21 questions in two Sections : Section A
and Section B.

(iii) Section A has Objective Type questions, whereas Section B contains
Subjective type questions.

(iv) Out of the given (5 + 16) = 21 questions, a candidate has to answer
(5 + 10) = 15 questions in the allotted (maximum) time of 2 hours.
(v)  All questions of a particular section must be attempted in the correct
order.
(vi) Section A : Objective Type Questions (24 marks) :
(a)  This section has 5 questions.
(b)  There is no negative marking.
(c) Do as per the instructions given.
(d)  Marks allotted are mentioned against each question/part.
(vii) Section B : Subjective Type Questions (26 marks) :
(a)  This section has 16 questions.
(b) A candidate has to do 10 questions.
(c) Do as per the instructions given.
(d)  Marks allotted are mentioned against each question/part.

Section A
(Objective Type Questions) (24 Marks)
1. Answer any 4 out of the given 6 questions on Employability Skills. 4x1=4

(1) The filename and filename extension are separated by a
(A) Dollar ($) (B) Dot (.)
(C) Underscore (_) (D) Hash (#)

(ii) Which of the following type of communication involves
interchanging messages only through images or pictures ?
(A) Verbal (B) Gesture

(C) Visual (D) Facial

Humani:t),vhub.in
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(iii)

(iv)

(v)

(vi)
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A FAIWET 3R GO % HAIWTE I g AR EEted
& hl Aar 3 |

(A) SATCH-Y (Toh-TAIHT)
(B) WTeHTeH: fodeh (SHIeMel seforsid)
(C) T @ Yaud (VH Ae)
(D) HIEHTHe IEAUY (FHRFA STER)
Tsh Weh ol § Sl oAk ohl Q&I U i, G TG H 3R
Sffem <1 TurerT gard o fore Sfa et 2 |
(A) ST Yo (B i)
(B) ATCH-SNY (Teh-3TAAHH)
(C) 3ncH-foepm (oY)
(D) T (FeH-HITCaTH)

T %hd It o4 o fore fmfrfiega & & sw-an 1o sifvard 757 2 2
(A) SATHTITEE (HiheH)

(B) goefierar (fsrufefadt)

(C) & (W)

(D) g (deeft)

TS T i, G Sl gUAd W@H IR 2030 9% @ @ S SR
g T Y, 39 GAREd w % g Afeaes A1EM & &9 § w1 HH 7g
2015 H §JH g g P fohad TE.EL.N. (Sustainable Development
Goals) 94T 7T ?

(A) 13 B 11

© 17 (D) 19
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is the ability to identify and manage one’s own emotions,

as well as the emotions of others.
(A) Self-Awareness

(B) Emotional Intelligence

(C) Stress Management

(D) Emotional Barrier

is the driving force that pushes us to achieve our goals,

feel happy and improve our quality of life.
(A) Stress Management

(B) Self-Awareness

(C) Self-Growth

(D) Self-Motivation

Which of the following is mot an essential quality to become a

successful entrepreneur ?
(A) Confidence

(B) Creativity

(C) Patience

(D) Wealthy

In total, how many SDGs were adopted by the United Nations in
2015 as a universal call to action to end poverty, protect the planet,
and ensure that by 2030 all people enjoy peace and prosperity ?

(A) 13 (B) 11

© 17 (D) 19
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2. fewTw 63w 4 @ Tl 5 & I GG | 5x1=5
(i) Trafafga o @ S9-a1 9 (§9) TH G0F T H3 BH B TN HH
<l FgAfd <@ & 2
(A) Tha (fill) (B) WISeH (styles)
(C) 9« (images) (D) <7 3R M (drag and drop)
(i) TSX H WEed 3R BiHIST &1 faehed T o IFdIa
J9cAsY % :
A) 3| (B) To®
(C) wite (D) fa=r

(i) TR T3 § T Fae R X @1 7 | 99 off 98 foa (389) o1 9 3ik
31T LT B, ST IHh A (STorpie) ¥ Jg Il 2 3t siogHe
3R ¢ AT & | ST o IS4 b oo BI3cd § foTeh i 1 I3 alel
AT |
(A) THS I S 3R A FLAT |
(B) ST *d 0T shelel it (Ctrl key) TETE W& |
(C) 3OS ! SfimT std a0a e i (Shift key) ! ST W& |
(D) 39 S S SR it & @wg ‘S’ (Ctrl) 3R “frde Y7

(Shift key) sl TETT W& |

(iv) i TEER (R TeH-agHT) | 309 1 NSiegs
T T THTd B bl 3 |
(A) o 3 (B) TEX 39
(C) Hiugt o (D) T (coloured) THA

(v) TS H Tlieh /alishl & AT YT AL &1 Tehd & |
(A) Th (B) @
(C) dH (D) =X

(vi) TS ] ‘GaeE 6’ HT T A TS (mail merge) Hd
gAY 22€Hl &l e o foTu fopam Jrar @ |
A F1 (B) F2
(C) F3 (D) F4
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2. Answer any 5 out of the given 6 questions. 5x1=5

1) Which of the following features allows one to apply a group of
formats at the same time ?

(A) Fill (B) Styles
(C) Images (D) Drag and Drop

(i1)  In Writer, styles and formatting option is available under

menu.
(A) Insert (B) Tools
(C) Format (D) Window

(iii) Gaurav is creating a report in Writer. The image gets embedded in
his document whenever he drags and drops the image and the
document size increases. Suggest a way to link the image file

instead of embedding it.

(A) Drag and drop the image.

(B) Hold down the Ctrl key while dragging.

(C) Hold down the Shift key while dragging the image.

(D) Hold down the Ctrl and Shift key while dragging and dropping

the image.
(iv) Resizing a may badly affect the resolution of an image.
(A) Vector image (B) Raster image
(C) CAD image (D) Coloured image
(v)  In Writer, you can create your own template in way(s).
(A) One (B) Two
(C) Three (D) Four
(vi) In Writer, function key is used to see the databases while

implementing mail merge.
A) F1 (B) F2
(C) F3 (D) F4

Humani%vhub.in
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feu U 6 T W @ TRl 5% I N | 5x1=5
(1) S H FHRd HAd A faehed &1 TN Fd BT A
L1 I A @ S GohdT 2 |
(A) I B) fewrEa =
(C) wHHIfdee 99 (D) feprEa 9w

(i1)

(iii)

(iv)

(v)

<1 gfafse R fieple ot erraq (3198c) i & foIU ot 3R 35 i
Teh Tesfic § i o @ 7 | 98 fohu U gfigdai i St WA =mEd
2 | uada foraa fopu ot wiesfie # +1 gfgds feeu 7w 98 S &

o

frfeifiga 4 @ forg faeey 9 wee faa gt 2 |

(A) Q\%Iﬁﬁf (view changes)

(B) Twpie === (record changes)
(C) TR I=I7 (store changes)
(D) % I (track changes)

e ek 1 31y foregd ®9 2 |
(A) <eeE (B) BT
(C) far (D) dfear
Tsh! ey <hl fer@et fafia &1 (regular functions)
& &9 4§ for@n o1 Tt 7 |
(A) Void (B) Return
(C) Add-in (D) Dim
o 3R FUTfEa Sehsfie 1 T hieh dehsiie | fohu 7T uftadHl ol g&H
% foTu Cale &1 farhed (option) HEE AT B |

(A) Edit —» Revise document
(B) Edit —» Consolidate
(C) Edit » Compare document

(D) Edit — Collaborate document
Humaniévhub.in
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3. Answer any 5 out of the given 6 questions.

1)

(i1)

(iii)

(iv)

(v)

14-89

While consolidating data, a cell range can be named using

option.
(A) Name range (B)
(C) Consolidate name (D)

Define range

Define name

5x1=5

Kawal and his friends are working on a Spreadsheet for entering

data and updating records. They wish to keep a track of changes.

Which of the following options will help in knowing who made the

changes and what changes were done in the spreadsheet ?

(A)
(B)
(®))
(D)

(A)
(®)

View changes
Record changes
Store changes

Track changes

is a more elaborate form of Goal Seek.

Database (B)
Report (D)

Hyperlink

Solver

Macro functions can be written to behave as regular functions by

writing a/an

(A)
(C)

Void (B)
Add-In (D)

Return

Dim

option of Calc helps in viewing the changes made to a

worksheet using original and edited worksheet.

(A)
(B)
(®)
(D)

Edit — Revise document
Edit —» Consolidate
Edit — Compare document

Edit — Collaborate document
Humaniévhub.in
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(vi) CalcH, 38 W (Shared workbooks) H g TR ST TehelT 8 :
(A) ToH AW (merging cells)
(B) Wﬂ BIHIET (conditional formatting)

(C) TR /UTh T (inserting pictures/graphs)

(D) e |t ST (adding text)

4. Tuww 6w # @ fhdl 5% I AU | 5x1=5
(i)  SIASAhE &8 H GROET (tables) W WIH da9
forehew <l TRMEAT © BT ST Gehal B |
(A) Clear (B) Remove
(C) Drop (D) Delete
(i) T 9 TA (SQL) # T&hid I T A # Yehfa & aren Hiag
(Keyword) ® :
(A) Asce (B) Incr
(C) Asc (D) High
(iii) Tsh R ST TR g I Yes/No 8T I[F I 0 AT 1
®Y T NUFATHE 99 3ol § TR HL Hehal 8 |
(A) Boolean (B) Char
(C) Binary (D) OtherObject

(iv) Trafafgd O @ SH-81 S99 (I6g) TH A1 AfYF o™ ocd IT S
3 (views) ¥ YA (zero) I 3feh GRHAT (rows) i GERT ITed ShTrel

2?7
(A) UPDATE (B) DELETE
(C) SELECT (D) DISPLAY

Humanityhub.in
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(vi) In Calc, shared workbooks allow :
(A) Merging cells
(B) Conditional formatting
(C) Inserting pictures/graphs

(D) Adding text

4. Answer any 5 out of the given 6 questions. 5x1=5

(1) In OpenOffice Base, the relationship applied on the tables can be

removed with the help of option.
(A) Clear (B) Remove
(C) Drop (D) Delete

(ii)) In SQL, the keyword to display records in ascending order is :

(A) Asce (B) Incr
(C) Asc (D) High
(iii) is a numeric data type which can store Yes/No type values

in the form of 0 or 1 in OpenOffice Base table.
(A) Boolean (B) Char
(C) Binary (D) OtherObject

(iv)  Which of the following statement retrieves zero or more rows from

one or more database tables or database views ?
(A) UPDATE (B) DELETE

(C) SELECT (D) DISPLAY

Humanityhub.in
™
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(v) UM 3 7" 9 T (SQL) H HEH oa aIR I 8 3 8 Cust_photo
Fleg o 3TdTd Tk ITHIH (customer)ﬁqﬁmsﬁﬁwaﬁw
Tredt 8 | T 3fua st 21gy o1 i fou e faseut & @ gema difSu |

(A) 399 (IMAGE)
(B) TUe=R (PICTURE)
(C) WTEarRaEH (LONGVARBINARY)
(D) WI%® (GRAPHIC)
(vi) Tewice B, Ayl sq ° a+ft Hieg # 22T 2189 BN |

(A) int (tiny) (B) §fei¥ (Boolean)
(C) ¥ (varchar) (D) 3% (char)

5. fauTu 6 uei ® 9 fordl 5% I difvw | 5x1=5

(1) T Ui (discussion) JehR hl J&ETEE &, S TS
AT SRAT hl dE B 3T SHT JAW ARKTd (Personal) a8 Uold
(Webpages)awwﬁ%mmm% |

(A) WWW (B) Web
(C) <A (Blog) (D) =< (Chat)

(i) AT FAR BISK & 9 § 1 Kl 8 | TR 9T T bl Gl Hieh
ferelt STTaer A TR % WS H Sfied s gre gifraa e % foe
39 At & H1 R fear T R

(A) H|EH{dH T (Cultural assembly)
(B) @ﬁ HRI%A (Open house events)
(C) Wit L w1 319 (Evacuation drill)

(D) I I qie (Trips and excursions)

(iii) T GiagSHe @1E 7, S W A i FgRdr il @
fSteg kIS AT H13Y AT ST BT ITANT i § hisATs aldl 2 |
A) et &t (B) dHifea 6

(C) wherd h (D) TS I (Toggle keys)
Human%tihub.in
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(v)  Roshni has created a table Customer in SQL and wants to store
photograph image of every customer under Cust_photo field.

Suggest a suitable data type from the options given below.
(A) IMAGE

(B) PICTURE

(C) LONGVARBINARY

(D) GRAPHIC

(vi) By default, all the fields in OpenOffice Base will have

datatype.
(A) int (tiny) (B) Boolean
(C) text (varchar) (D) text (char)
5. Answer any 5 out of the given 6 questions. 5x1=5
) A is a discussion style website similar to an online

personal diary, used for creating personal web pages.
(A WWW (B) Web
(C) Blog (D) Chat

(ii)) Natasha works as floor manager. She has been assigned a task for
conducting regular to ensure safety of life in case of any
disaster or emergency by evacuating the place of danger.

(A) Cultural assembly
(B) Open house events
(C) Evacuation drill

(D) Trips and excursions

(iii) is an accessibility feature that assists people who have
difficulty using a keyboard or a mouse (or both).
(A) Sticky keys (B) Serial key
(C) Control key (D) Toggle keys

Humanitghub.in
1
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(iv) &ft Fregel o foe aum feufa am Jeash g ITd & |
(A) ﬁm-g-ﬁm aMfehea=l (Peer-to-Peer architecture)

(B) {-i;ed afTfeheerR (Central architecture)

(C) Slé{lﬁo%m SATfeheat (Hierarchical architecture)

(D) crcdls';d-HOY{ FTfeheat (Client-server architecture)

(v) TAIRT 9 (username) 3R IEES € SIS Alhel aralt
SR HIEA & |
(A)  raRfe fawen (B) UA-aEH
(C) Fehld (D) HreH (Modem)
(vi) DSL I 319 ¢ :
A) feforea faeen @A (B) <21 HeHEhIZR TS

(C) Tefea geaspEst @tz (D) <21 gfdg A

LCLCRC|
(Freerates TR % we) (26 i)
IR #97 W RT 70 5 3971 5 & fbel 3 & 0 20 - 30 ¥egl (99%) 7
g 3x2=6
6.  IHTEHRI TIU % fTC FERfqen A=TaTd fohd TR T @4 gl dehdl & 2
7. WAl o IR H fRgl Q1 TTeTd GRS i T8 hHIT |
8.  Siiod H %A 8 o [Tt HI TS iV o Hawd T HieTed ==l <hifoig |
9. T fUshm FH Hed (Spam mails) % IR H Ad & | I AR A (Spam
mails) T 8, T HINT 3 Fq3T foh B TSN (mails) 5 A FT BT
IMRT |
10. 9% IR T&H1T (affordable) STt ITed i & fohral g aiiehl ol Icoid shifaT |
Humanityhub.in
14-89 13
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(iv) Network in which all computers have equal status is called

(A)
(B)
(C)
(D)

(v)

Peer-to-Peer architecture
Central architecture
Hierarchical architecture

Client-server architecture

are text files with small pieces of data — like a username

and password.

(A)
©)

Operating System (B) Antivirus
Cookies (D) Modem

(vi) DSL stands for

(A)
(®)

Digital System Line (B) Data Subscriber Line
Digital Subscriber Line (D) Data Service Line
Section B
(Subjective Type Questions) (26 Marks)

Answer any 3 out of the given 5 questions on Employability Skills in 20 — 30

words each.

3X2=6

6. How can cultural differences be a barrier to effective communication ?

7. Explain any two misconceptions about entrepreneurship.

8. Briefly discuss the significance of time management skills in order to

succeed in life.

9. Very often we hear about spam mails. Explain what are spam mails, and

what should be done with such mails.

10. Mention any two ways to get clean and affordable energy.

14-89
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130 70 6 71 7 @ 18T 4 & I 20 - 30 VsG] (§9%) & e | 4x2=8

11. TS ¥ T Afeoded il J4 i o &I =X ol fIRAT |
12. Tesfie § ST THHA (consolidate) T 1 I B ? AT § ST |
13. LAN 3R WAN ¥ 37 sy |

14. gEO Ml H S Y9 FH o fAIC S THE Q9 R B ? IS b 1Y
Tee I |

15. ST H GRIUE (tables) % s Ha9 dAR L o fohal al T4l I FAT3T |

16. Torelt @ied g1 STUATC WM aTel fehegl g wafies 1fi gren fdi @1 3o
s |

3T 705 971 7 @ 3518 & 3o 50 — 80 ezl (99%) 7 Afw 3x4=12

17. a@gwmﬁﬁﬁﬁ(mailmerge)aﬁﬁﬁwmﬂW%?ﬁW
Y § §aT3C | T TSt o T o gl ot ol <t off siarse |

18. TEWeTH & IR YRl i T4 hIfTu et T Tesficd # form S gk
2|

19. S I G A i ged o€ far 1 faw 3 | e wrEaE w1 v gene
! L& ok SASHA o @al I HH hHT ehdl @ |
femreft 3 snfionft ee i 19T UE UHEE SR B | Hied uwad
AR HH o T fopeal =m A= femn-fgett sl sidTd 8T 3Hehl Heg shifvT |

20. INUAATHE 99 & T § f=fafaa i sraumon 3K 78w &l Tose hifvu
(a) HIEd
(b) fTadm

~

Humanityhub.in
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Answer any 4 out of the given 6 questions in 20 — 30 words each. 4x2=8
11. Write the main steps to group drawing objects in Writer.

12. What is the purpose of consolidating data in spreadsheets ? Discuss

briefly.
13. Differentiate between LAN and WAN.

14. What are the two parts of a cell reference while referencing data on other

sheets ? Explain with an example.

15. Give any two benefits of creating relationships between tables in a

database.
16. Mention any two basic fire safety rules to be followed in any organization.

Answer any 3 out of the given 5 questions in 50 — 80 words each. 3x4=12

17. What is the concept of mail merge in word processing software ? Discuss in

detail. Also give any two major benefits of using mail merge.
18. Explain four types of hyperlinks that can be applied in spreadsheets.

19. Internet security is of prime concern nowadays. Using strong passwords
can lower the risk of security breach on the Internet.
Himanshi has just created her first Internet based account. Help her by

giving any four general guidelines for managing strong passwords.

20. In context of OpenOffice Base, explain the concept and significance of the
following :
(a) Forms
(b)  Reports

Humanit;hub.in
1
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21. 39 Wewe W o= Shifse 3t ffatad & fow (SQL) Fafw foifau -

29 ; UIEae

flomsdt | Mg T HT goft
P01 EIE] 10000 2 Tfeg
P02 JATSATEH 700 50 Teh3Tg
P04 EIE 5 500 el
P05 g 250 10 W]
P08 EENIT 450 45 IR
P09 AUera 75000 15 ATHE

(a) 3 @t IcuTel (Meeed) & I fe@mr fomeht goft “eiey” 7 |

(b) 3 3cGH oh MisdeTm IR o e fSeehi #6150 @ A 7 |

(c) <IUeid = Hed R 7 (we) fe@m |

(d) 3 3IcUTEH 1 WeFeA™ IR 0 fe@mn fept 4o 5000 & 1fo # |

gfezafim wienfh % forg

SIOH JEEE YOSl o Hey 1 fmfaiRga w wes gfereq feoqofi fafeu .
()  SIed™

(i) 2=

(iii) blee

(iv) HFAIfe IrsHd) <

14-89 Human%tghub.in
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21. Consider the table Product and write SQL queries for the following :

Table : Product

PID PNAME PRICE QUANTITY CATEGORY
PO1 BOARD 10000 2 OFFICE
P02 EYELINER 700 50 MAKEUP
P04 PENCIL 5 500 SCHOOL
P05 LAMP 250 10 DOMESTIC
P08 BEDSHEET 450 45 DOMESTIC
P09 LAPTOP 75000 15 OFFICE

(a) To display names of all products whose category is “domestic”.

(b) To display product name and price whose quantity is less than 50.

(c) To display price and quantity of Laptop.

(d) To display name and quantity of those products whose price is above

5000.

For Visually Impaired Candidates :

In the context of Database Management System, write a short note on the

following :

(1) Database

(i1) Table
(111) Field

(iv) Composite Primary Key

14-89
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